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1. Some have said that a usage-based model of language dissolves the partition between synchronic and diachronic linguistics. Give an example that illustrates this claim. 

2. CC tell us on p. 291 that “the primary processes in which grammatical knowledge is involved are communication—the production and comprehension of utterances; the acquisition of grammatical knowledge by children and adults; and the changes in grammatical knowledge of speakers over time”. For each of the following processes, give one example (it can be either a linguistic phenomenon or a study like those cited in Goldberg 2006) that suggests that the process involves grammatical constructions (form-function pairings that are stored in much the same way that words are):

· Production of an utterance

· Comprehension of an utterance

· Language development (either in adult second-language learning or child language acquisition)

· Language change

3. According to the traditional view, English past tenses can be divided into regular and irregular past tenses. In the dual-processing model, the regular past tense is modeled as a rule and the irregular past tenses are modeled as word-word relationships.  What makes the regular past tense regular and the irregular past tenses irregular? 

4. Current American English features the novel past tenses exemplified below:

a. They sung as a family for twelve years fulltime up until Conrad, the leader of the group, went home to be with the Lord.
b. Horrified onlookers shrunk back to the shadow of shop fronts and awnings.
c. Here's an article in Reason magazine about the various myths that almost immediately sprung up around Katrina.
How do these novel past tenses differ from their historical antecedents? Would you describe the change that gave rise to these novel past tenses as regularization? What would you predict about the existence of novel past tenses begun and drunk corresponding to the standard began and drank, respectively?

5. Give an example of a source-oriented schema from the domain of verbal argument structure (e.g., the ditransitive pattern). Now recast that schema as a product-oriented schema. What did we lose by doing so? What did we gain?
6. Why would the following examples be taken as evidence for product-oriented schemas?
a. The contracted forms wanna, coulda, gonna
b. The auxiliary do, as in Do you need something?

c. Subject WH-questions
7. Give an example of the principle that says that the more relevant the category to the meaning of the verb, the more likely that distinctions within that category will be expressed by distinct forms. 
8. How do the following examples argue in favor of a product-oriented schema for, respectively, Extraposition and Locative Preposing (both formerly modeled as transformations)?
a. That Lesliei was selected amazed heri. 

b. *It amazed heri that Lesliei was selected. 

c. In Moei’s fantasy world, hei always came out on top.



d. *Hei always came out on top in Moei’s fantasy world. 

9. What do the passive sentences below suggest about the feasibility of a source-oriented schema for passive, and how do these examples relate (if they do) to the Japanese examples in (43-47)?

a. This bed was slept in by Abraham Lincoln.

b. He’s someone who can’t be worked with.

c. I can’t be done that to. (attested speech error)

10. Give an example of a construction that appears to inherit it properties from multiple taxonomic parents. Explain what properties are inherited from what constructions. 

11. The English way-construction, discussed on pp. 325-326, has an apparently paradoxical property: while the construction expresses travel along a path, the verbs that it combines are not those that otherwise entail motion along a path. This is shown by the awkward examples in (a-c):

a. ??She ran her way down the path.

b. ??He traveled his way around the country. 

c. ??He wandered his way around town.

Why would a construction that means ‘motion along a path’ not accept verbs that mean the same thing?

